ASSEMBLY INSTRUCTIONS

PARTS IDENTIFICATION

ITEM NO.: 92366/92368

1pc

PN

//\

N

D 1pc

Sy

2pcs

1pc

2pcs

1pc

4pcs
S o)
M6x345 Bpcs | M6x5 7 Bpcs | P59x4 u 4pcs
8 9
= S, 5 o
26x30 8pcs | D16x7x1.0 13pcs 2pcs
10 11 Tﬁ%
4x4 @ 1pc 1pc

page 1 of 3




STEP 3.

M6x345 3pcs M6x345 3pcs

oo 6

&59x4 2pcs 259x4 u 2pcs
7

7 —_— )

26x30 2pcs 26x30 2pcs

M6x5 3pcs M6x5 3pcs
7

! 9) ) =

26x30 2pcs @6x30 2pcs

° S . =

@16x7x1.0 3pcs @16xI7x1.0 3pcs

page 2 of 3




STEP 7.

@16x37x1.0

16xa7x1.0

page 3 of 3



	CAP1010   旋转电脑桌说明书 Model (1)
	CAP1010   旋转电脑桌说明书 Model (2)
	CAP1010   旋转电脑桌说明书 Model (3)

